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K= 4 23 2 553 111 488 15 1,192 1,390 85.8 17,083 18,152 94.1
A H 127 1 222 350 369 94.9 4,434 5,054 87.7
H g 7 190 43 149 6 395 399 99.0 4917 5,406 91.0
UK 1 68 13 30 112 110 1018 1,487 1,659 89.6
AR 3 72 75 112 67.0 1,212 1,321 91.7
SUBARU 194 17 1 212 192 1104 2,438 2,653 91.9
HAINY 6 6 12 50.0 208 233 89.3
=7 2 54 2 22 15 95 84 113.1 999 1,029 97.1
AN 47 2 1 28 20 98 90| 108.9 1,274 1,344 94.8
EE5; 28 1 4 23 56 60 93.3 667 724 92.1
ST 43 2 26 11 82 92 89.1 946 1,015 93.2
UDKZ 77 A 13 1 14 16 87.5 170 185 91.9
& D [E] PE 2 1 1 40 44 52 84.6 385 462 83.3
i) A H 8 158 7 25 3 201 217 92.6 2,699 2,849 94.7
&t (E) 174 7 1,349 235 1,031 0 81 55 2,932 3,195 91.8 | 38919] 42,086 92.5
ATAER A 5 (F) 185 14 1,422 253 1,189 73 59 3,195
Mt E/F % 94.1 50.0 94.9 92.9 86.7 111.0 93.2 91.8
ai A & (G) 191 18 1,398 243 1,241 69 50 3,210
Wt E/G% 91.1 38.9 96.5 96.7 83.1 117.4 110.0 91.3
LA DD BE (1) 2,140 166 17,240 2,849 15,249 2 918 355/ 38,919
ARG (1) 2,307 196/ 18,430 3,203 16,576 2 994 378 42,086
F e H/T% 92.8 84.7 93.5 88.9 92.0 100.0 92.4 93.9 92.5




